1/0d%0/ d N

Ratio to ATLAS

bar{t
} [L/GeV]
S

d H

1074

[HEN
o
&

0.5

13000 GeV pp tt
|'I'I'I'I'|'I'I'I'I'|'I'I'I'I'|'I'I'II'|ﬂ
— 3
- ttHT (ATLAS semileptonic ttbar) 3
- 4=
~  m ATLAS 13
[ --+-- Pythia 6.428 355 I
O Pythia 6.428 356 13
| —#— Pythia 6.428 370 15
Pythia 6.428 379 o
&~ ig6.428 ambt1 &
<
™M
@
™
H©
o
™
—
X
Jjs
1<
=S
- <
©
— -
[%2]
- —2
o
o
| —l | | | | | | | | | | | | | | | | [ | -
:l T T T T | T T T T | T T T T | T T T T |:
— 42
1
L —0.5
| L 1 L 1 1 1 L | L 1 1 L 1 1 L | L 1 1 L 1 L 1 L | L 1 L 1 L 1 L 1 L |
0 500 1000 1500 2000

H* [GeV], N 2 7



	Contents
	Page 1


